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Read the following instructions carefully before you answer the questions.
	 (1)	 This question paper contains two sections. In Section I there are 1 to 25 questions of Third Language 

and in Section II there are 26 to 75 questions of Intelligence Test. All 75 questions are compulsory.
	 (2)	 All questions carry 2 marks each.
	 (3)	 Time limit to solve the question paper is 90 minutes.
	 (4)	 Separate answer sheet is given to record the answers. Each question has been given four alternatives. 

Read them carefully. Select the correct answer and shade the correct answer in the answer sheet.
		  Example :– If the correct alternative for Q. No. 6 is 2, then record your answer as follows:

Question No. 6    
	 (5)	 Answer recorded in any other form will not be considered. Such answer will be credited with 'Zero' mark.
		   Example:     
	 (6)	 Use blue or black ball pen to darken the circle. Pencil is not allowed. Circles darkened by pencil will 

not be credited.
	 (7)	 Once you have darkened the circle as correct alternative you cannot change it.
	 (8)	 If more than one circle are darkened or overwriting is done, the answer will not be accepted.
	 (9)	 The rough work is to be done in the space given under each page do on the last page or the question 

paper.
	 (10)	 If you do not know the answer to any question, do not spend much time on it and pass on to the next 

one. If the time permits you can come back to the question which you have left in the first instance 
and try them again.

	 (11)	 If you find any question incomplete or with error, then or not ask anything to the Supervisor or 
Centre Incharge.

	 (12)	 For any error/mistake/objection issues, school or parents should not send written application to Block 
Education Officer or Education Officer. These error/ mistake/objection issues should be register 
online through respective school login only.

	 (13)	 The error/ mistake/ objection issues should be register online within 10-days from the publication of 
Interim answer key on MSCE website.

	 (14)	 Questions can be cancelled due to printing mistake or any other reason, on the basis of the suggestions 
given by the Committee of Experts.

	 (15)	 Along with the question paper of the respective medium, the English version of question paper is 
also provided. In case of doubt please refer to the English version of the same question.
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Instructions for Q. Nos. 1 to 3 : Read the passage carefully and answer the 
following questions.
The horse is a common tame animal. After the cow, buffalo and the goat; it 
is the most useful animal. A horse is used for riding, in hunting. It draws our 
carts. It is very faithful.

	 1.	 Select the correct option.
		  The horse is most ____________ animal.
	 (1)	 useless	 (2)	 harmful	 (3)	careless	 (4)	useful

	 2.	 Choose the animal which is not mentioned in the given passage.
	 (1)	 cow	 (2)	 bullock	 (3)	buffalo	 (4)	goat

	 3.	 Select the correct alternative.
		  A horse is not used for __________
	 (1)	 riding	 (2)	drawing carts
	 (3)	 nothing	 (4)	hunting

	 4.	 Select the mismatched pair.
	 (1)	 actor – tractor	 (2)	cricket – sachet
	 (3)	 tower – power	 (4)	plastic – elastic

	 5.	 Observe the picture carefully and select the proper motto.

	 (1)	 We love books	 (2)	Protect all animals
	 (3)	 Health is wealth	 (4)	Protect all plants
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	 6.	 Arrange the numbers properly and make the meaningful word.
a r e f t v i u o
1 2 3 4 5 6 7 8 9

	 (1)	 41893762	 (2)	 416982753	 (3)	213457698	 (4)	541628739

	 7.	 The sign  indicates that one should _______.

	 (1)	 go straight	 (2)	 turn left	 (3)	up ward	 (4)	turn right

	 8.	 Select the correct alternative.
		  We should cut our nails ___________.
	 (1)	 daily	 (2)	 early	 (3)	carelessly	 (4)	regularly

	 9.	 Choose the correct alternative.

		

Type of Plants

climbershrub ? cactus

	 (1)	 bud	 (2)	 root	 (3)	stem	 (4)	herb

	10.	 Choose the correct option for making a request.
		M  y friend Arnav forgot his eraser and wants to borrow it__________.
	 (1) 	I brought your eraser.	 (2)	Please, give me your eraser.
	 (3)	 Can I give my eraser to you?	 (4)	Find my eraser.

	11.	 Complete the grid by choosing proper set of alphabets.
c
r

s t r i h
w r

a
n

a g l e

	 (1)	 a, i, g	 (2)	 p, k, l	 (3)	o, k, e	 (4)	o, c, e
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	12.	 Choose the correct option for the given word.

		  shape

	 (1) 	aroma	 (2)	 rough	 (3)	brick	 (4)	vapour

	13.	 Select the correct punctuation mark that mentioned in the given sentence.
				    Well done Rahim!
	 (1)	 Exclamation mark	 (2)	Question mark
	 (3)	 Full stop	 (4)	Comma

14	.	 If pigs: squeal : then wolves : ?
	 (1)	 howl	 (2)	 growl	 (3)	squeak	 (4)	croak

	15.	 Observe the picture and choose the correct expression.

	 (1)	 How sad!			   (2)	What a surprise?
	 (3)	 How miserable!			   (4)	What a pity!

16	.	 Fill in the blank by using the correct article.
		  The cow is _______ useful animal.
	 (1)	 an	 (2)	 a	 (3)	the	 (4)	no article.

17.		 Select the correct option.
		  Vedant and his team won the football match.
		  Their friends said, _______________.
	 (1)	 Congratulations!	 (2)	Best of luck!
	 (3)	 Happy birthday!	 (4)	Good bye!

	18.	 Choose the correct sentence showing correct position of a comma (,).
	 (1)	 I ordered potatoes, sugar, eggs, and coffee.
	 (2)	 I ordered, potatoes, sugar, eggs and coffee.
	 (3)	 I ordered potatoes, sugar, eggs and coffee.
	 (4)	 I ordered potatoes sugar eggs, and coffee.
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19	.	 Select the correct option.
string ?

sew hem
needle

	 (1)	 toss	 (2)	 spill	 (3)	blink	 (4)	stitch

20	.	 Solve the riddle.
		  It has three blades. 	They go round and round.
		  It gives cool air. What is it?
	 (1)	 a fan 	 (2)	 a lamp	 (3)	a refrigerator	 (4)	an oven

	21.	 Select the correct speech for the given picture.
	 (1)	 What's wrong? 	
	 (2)	 I don't know.
	 (3)	 I can't hear you.	 	
	 (4)	 I don't like it.

22.		 Select the suitable phrase for the given sentence.
		  ______________ there lived a king.
	 (1)	 Long long ago 	 (2)	Many years from now
	 (3)	 Day after tomorrow	 (4)	Just now

23	.	 Choose the correct punctuation mark for the given sentence.
				    Are you ready:
	 (1)	 Full stop	 (2)	 Question mark	 (3)	Comma	 (4)	Apostrophe

	24.	 Fill in the blanks with the correct option.
		  I wash my hands _________ and _________ eating.
	 (1)	 near and close	 (2)	up and down		
	 (3)	 over and under	 (4)	before and after

	25.	 Select the proper alternative.
		  I brush my teeth _________ a day.
	 (1)	 two	 (2)	 twice	 (3)	too	 (4)	first
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dPP;k dkeklkBh tkxk

v{kjekyk % A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y

Section II

Intelligence Test

	26.	“AhúÐ«ÐÕhú PÐ×Vú³úÐoÐ AOÐïÑhúoÐ ¬ÐÐ³úoÐ Kêú³úÕ »ÐÐ¥Ð, ÁÐÐB KúÅêú AÐ ¤Ð³úoÐÕ D§Ð³ú ®ÐÅêú®ÐÐ¥ÐÐê 

		 ¬ÐPÐºÐÐ¥Ð “AÐ KúÐº¯Ð §ÐïÔJoÐ®ÐÐï AKúÐ³úÐïoÐ »Ð«súÐê Kú³úoÐÐï BKúÐ³úÐïoÐ »Ð«sú Kêúcú¶ÐÐrÐÕ	     

AÐêTúÐ Têú Kêú ºÐ¤ÐÐ³êú Têú ?

	 (1)	 3 Vúêcú¶ÐÐ ºÐ¤ÐÐ³ê  	 (2)	4 Vúêcú¶ÐÐ AÐêTúÐ Têú.	

	 (3)	 3 Vúêcú¶ÐÐ AÐêTúÐ	     (4)	4 Vúêcú¶ÐÐ ºÐ¤ÐÐ³êú

§Ðõ½Ð-27 rÐÕ 31 ®ÐÐcêú ÁÐÚSÐ¥ÐÐ : VÚúrÐ®ÐÐï «Ðï¤Ð «ÐêÁÐoÐ×ï ¥ÐÐ ÅúÐê¯Ð oÐê §Ðsú AÐê¹OÐÐê.

27.	 	(1) 17	 (2)	 290	 (3)	 730	 (4)	 71

28.	 (1) 319	 (2)	 232	 (3)	 251	 (4)	 174

29.    1) ³úÁÐ¥ÐÕ³úÁÐ      2) KúÐ®ÐKúÐVú       3) ³úÕoÐ Ñ³úºÐÐVú         4) ÁÐÐ¤Ð×ÁÐïoÐ

30.		 (1) 	 (2)	

	 (3)	 		  (4)	
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Space for Rough Work

Alphabets :  A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y

Section II

Intelligence Test
	26.	 ''Merit consists in doing good to others, sin in doing harm to others.'' In 

this sentence how many words having five letters each are more or less than 
the words having two letters each?

	 (1)	 more by 2	 (2)	 less by 1	 (3)	less by 2	 (4)	more by 1

Instructions for Q. Nos. 27 to 31 : Find out the odd term.

27.		 (1) 17	 (2)	 290	 (3)	 730	 (4)	 71

28.	 (1) 319	 (2)	 232	 (3)	 251	 (4)	 174

29.	 (1) Preliminary	 (2)	 Prehistoric	 (3)	 Prepaid	 (4)	 Preposition

30.	 (1) 	 (2)	

	 (3)	 		  (4)	
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dPP;k dkeklkBh tkxk

v{kjekyk % A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y

31.	 (1)	 			   (2)	

	 (3)	 		  (4)	

§Ðõ½Ð 32 A¥Ðê 33 ®ÐÐcêú ÁÐÚSÐ¥ÐÐ :	 ¥ÐÕSÐê¥ÐÕ ÁÐïO¯ÐÐï®ÐÐ¹Ð®ÐÐï §Ðõ½ÐÒSÐ¥Åú¥ÐÐ ÁrÐÐ¥Ðê 

Mú®ÐÐ¥Ð×ÁÐÐ³ú AÐºÐ¥ÐÐ³úÕ ÁÐïO¯ÐÐ §Ð¯ÐÐü¯Ð®ÐÐrÐÕ »ÐÐê¤ÐÐê.

	32. 114, 85, 62, 43, ? 13
	 (1)	 26	 (2)	 18	 (3)	24	 (4)	21

	33.	 11, 12, 16, 52, ? 92, 96

	 (1)	 77	 (2)	 56	 (3)	61	 (4)	83

	34.   A®Ð¥Ð AÐê«ÐÐ®ÐÐ¥ÐÕ DpÐ³êú 10 ÑKú®ÐÕ AïoÐ³ú §Ð³ú E¬ÐÐê Têú. A¥Ðê ³ú©úÕKú¥ÐÕ ºÐÐ¯Ðº¯Ð®ÐÐï 

20 ÑKú®ÐÕ AïoÐ³êú E¬ÐÐê Têú. oÐÐê ³ú©úÕKú AÐê«ÐÐ®ÐÐ¥ÐÕ KúC Ñsú»ÐÐ®ÐÐï E¬ÐÐê Têú ?

	 	(1) §ÐÚºÐü	 (2)	§ÐÓ¼Ð®Ð 		 (3) súÒNÐnÐ 	 	(4) DpÐ³ú 
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Space for Rough Work

Alphabets :  A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y

31.	 (1)	 			   (2)	

	 (3)	 		  (4)	

Instructions for Q. Nos. 32 to 33 :Observe the number series and find the correct 
alternative to replace the question mark. (?)

	32.	 114, 85, 62, 43, ? 13
	 (1)	 26	 (2)	 18	 (3)	24	 (4)	21

	33.	 11, 12, 16, 52, ? 92, 96
	 (1)	 77	 (2)	 56	 (3)	61	 (4)	83

	34.	 Aman is standing 10 metres away from Obama facing North and 20 metres 
away from Rafiq facing NORTH-WEST, then in which direction is Rafiq 
standing to Obama?

	 (1)	 East	 (2)	 West	 (3)	North	 (4)	South
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dPP;k dkeklkBh tkxk

v{kjekyk % A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y
	35.	¥ÐÕSÐê¥ÐÐ §Ð¯ÐÐü¯Ð®ÐÐï¥ÐÕ AÐKÝúÒoÐAÐê¥ÐÕ húÐ«ÐÕ «ÐÐV×ú A³úÕÁÐÐê §ÐKúhúoÐÐ KúC AÐKÝúÒoÐ AÑ³úÁÐÐ®ÐÐï 

AêºÐÕ¥Ðê AêºÐÕ Vú sêúOÐÐ»Ðê ?

	 (1)	 HTH 	 (2)	 YNY

	 (3)	 I Z I 	 (4)	 OSO

	36.	§Ðõ½Ð®ÐÐ¥ÐÕ §Ðõ½Ð AÐKÝúÒoÐ¥ÐÕ AÑ³úÁÐÐ®ÐÐï §ÐõÒoÐ®ÐÐ KêúºÐÕ sêúOÐÐ»Ðê ? oÐê §Ð¯ÐÐü¯ÐÕ DpÐ³ú 

AÐKÝúÒoÐ®ÐÐrÐÕ ¥ÐLúÕ Kú³úÐê.

	 (1)	 	 (2)	 	(3)	 	 (4)	

	37.	AÐêPÐÁcú ®ÐÑÅú¥ÐÐ¥ÐÕ 6 oÐÐ³úÕOÐê »Ð×MúºÐÐ³ú ÅúÐê¯Ð oÐÐê oÐê Vú ®ÐÑÅú¥ÐÐ¥ÐÐ TêúºÐcú¥ÐÐ «Ð×¤ÐºÐÐ³êú KúC 

oÐÐ³úÕOÐ Åú»Ðê ?

	 (1) 	31	 (2)	25

	 (3)	 27	 (4)	30
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Space for Rough Work

Alphabets :  A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y
	35.	 If the mirror is held from the left side of the given figures. which figure will 

look as it is?

	 (1)	 HTH 	 (2)	 YNY

	 (3)	 I Z I 	 (4)	 OSO

	36.	 Find the correct figure from the alternatives which is the mirror image of 
the question figure.

Question Figure 

	 (1)	 	 (2)	 	(3)	 	 (4)	

	37.	 If 6th August was Friday, then in the same month what date it will be on 
last Wednesday?

	 (1) 	31	 (2)	25

	 (3)	 27	 (4)	30
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dPP;k dkeklkBh tkxk

v{kjekyk % A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y
§Ðõ½Ð-38   38 A¥Ðê 39 ®ÐÐcêú ÁÐÚSÐ¥ÐÐ :¥ÐÕSÐê¥ÐÕ §Ðõ½ÐKÝúÒoÐ¥Ð×ï §ÐÐnÐÕ®ÐÐï §ÐõÒoÐÓ«Ðñ«Ð KêúºÐ×ï sêúOÐÐ»Ðê 

? oÐê §Ð¯ÐÐüÒ¯Ð DpÐ³ú AÐKÝúÒoÐ®ÐÐrÐÕ ¥ÐLúÕ Kú³úÐê.

38.	

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	39.	

	 (1)	 	 (2)	 	 (3)	 	 (4)	
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Space for Rough Work

Alphabets :  A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y
Instructions for Q. Nos. 38 to 39 : Select the correct figure that is water image 
of the question figure from the alternatives.

	38.	 Question Figure 

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	39.	 Question Figure  

	 (1)	 	 (2)	 	 (3)	 	 (4)	
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dPP;k dkeklkBh tkxk

v{kjekyk % A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y
	40.	³êúOÐÐ¥ÐÐê  «ÐÕVúÐê Vú¥®ÐÑsúºÐÁÐ 25 V×ú¶ÐÐB 2009 ¥ÐÐ ³úÐêVú »ÐÒ¥ÐºÐÐ³êú ÅúoÐÐê, oÐÐê oÐê¥ÐÐê Vú¥®Ð 

K°Ðï ºÐÐ³êú rÐ¯ÐÐê Åú»Ðê ?

	 (1)	ÁÐÐê®ÐºÐÐ³ú	 (2)	®ÐïPÐ¹ºÐÐ³ú

	 (3)	«Ð×¤ÐºÐÐ³ú	 (4)	PÐ×´ºÐÐ³ú 

§Ðõ½Ð-41 AÐ§Ðê¶ÐÕ ANÐ³ú®ÐÐ¹Ð®ÐÐï K°Ðï ANÐ³úÐê ÁÐ®ÐÐ¥Ð ºÐOÐoÐ AÐº¯ÐÐ Têú ?

ANÐ³ú®ÐÐ¹Ð% A B C D B  A C A D C D A C D B  C

	 (1)	 A A¥Ðê D	 (2)	 D A¥Ðê C	 (3)	A A¥Ðê B	 (4)	D A¥Ðê B

§Ðõ½Ð 42 rÐÕ 46 ®ÐÐcêú ÁÐÚSÐ¥ÐÐ :AÐ§Ðê¶ÐÐ §Ðõ½Ð®ÐÐï §ÐÅêú¶ÐÐ §Ðsú¥ÐÐê «ÐÕW §Ðsú ÁÐÐrÐê VúêºÐÐê ÁÐï«Ðï¤Ð 

SÅêú oÐêºÐÐê Vú ÁÐï«Ðï¤Ð qÐÕW A¥Ðê SÐÐêrÐÐ §Ðsú®ÐÐï Têú. oÐê ÁÐï«Ðï¤Ð AÐê¹OÐÐê A¥Ðê §Ðõ½ÐÒSÐ¥Åú¥ÐÐ 

ÁrÐÐ¥Ðê AÐºÐ¥ÐÐ³úÐê ¯ÐÐêP¯Ð §Ð¯ÐÐü¯Ð »ÐÐê¤ÐÐê. 

42.   PÐÐêºÐÐ    : §ÐnÐX     :  AÐÁÐÐ®Ð    : ?

	 (1)	 ³úÐïSÐÕ	 (2)	KúÐêÑÅú®ÐÐ 	 (3)	ÑsúÁÐ§Ð×³ú	 (4)	PÐïPÐcúÐêKú

	43.   3564 : 6 : : 7827 : ?
	 (1)	 2	 (2)	 8	 (3)	12	 (4)	10

	44.	 36 : 10 : : 27 : ?

	 (1)	 26	 (2)	 16	 (3)	15	 (4)	24
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Space for Rough Work

Alphabets :  A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y
	40.	 Rekha's second birthday was on Saturday 25th July 2009, then on what 

day was she born?

	 (1)	 Monday			   (2)	Tuesday

	 (3)	 Wednesday			   (4)	Thursday

	41.	 In the given alphabetical series which letters are repeated same number of 
times?

Letters : A B  C D B  A C A D C D A C D B  C

	 (1)	 A and D			   (2)	D and C

	 (3)	 A and B			   (4)	D and B

Instructions for Q. Nos. 42 to 46 : There exists a certain relation between 
first and second term. The same relation exists between third and fourth 
term. Considering this choose the correct alternative to replace the question 
mark (?)

	42.	 Goa : Panaji : : Aassam : ?

	 (1)	 Ranchi	 (2)	 Kohima	 (3)	Dispur	 (4)	Gangtok

	43.	 3564 : 6 : : 7827 : ?

	 (1)	 2	 (2)	 8	 (3)	12	 (4)	10

	44.	 36 : 10 : : 27 : ?

	 (1)	 26	 (2)	 16	 (3)	15	 (4)	24
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	45.	

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	46.	

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	47.	 ¥ÐÕSÐê¥ÐÕ ÁÐïO¯ÐÐ®ÐÐ¹Ð®ÐÐï AïKú¥ÐÐ ÁrÐÐ¥Ð¥ÐÕ Asú¶ÐÐ«Ðsú¶ÐÕ Kú¯ÐÐü §ÐTúÕ Kêúcú¶ÐÕ ®ÐÚ¹ 

ÁÐïO¯ÐÐ oÐë¯ÐÐ³ú rÐ»Ðê ?						      		

ÁÐïO¯ÐÐ®ÐÐ¹Ð % 31, 59, 35, 19, 17, 34, 16, 89, 74

	 (1)	 5	 (2)	 7	 (3)	4	 (4)	6
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Space for Rough Work

Alphabets :  A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y

45.		

	 (1)	 	 (2)	 	 (3)	 	 (4)	

46.		

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	47.	 By interchanging  the digits of the numbers in the given number series how 
many Prime numbers will form?

		  Letters:  31, 59, 35, 19, 17, 34, 16, 89, 74

	 (1)	 5	 (2)	 7	 (3)	4	 (4)	6
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48. ANÐ³ú®ÐÐ¹Ð: ABCDE  FGHIJ  KLMNO  PQRST  UVWXY

		 D§Ð³úÐêJoÐ ANÐ³ú®ÐÐ¹®ÐÐï “«Ð” A¥Ðê “R” ¥ÐÐ sú³ú®¯ÐÐ¥Ð Vúêcú¶ÐÐ ANÐ³úÐê Têú oÐê¥ÐÐ 3/5 PÐnÐÐ 

ANÐ³úÐê ¥ÐÕSÐê¥ÐÐ §ÐëKúÕ K°Ðï ANÐ³úÐê sú³úÒ®Ð¯ÐÐ¥Ð Têú ?

	 (1)	 'B' A¥Ðê 'H'	 (2)	 'K' A¥Ðê 'S'	 (3)	 'H' A¥Ðê 'O'	 (4)	'D' A¥Ðê 'H'

§Ðõ½Ð 49 A¥Ðê 50 ®ÐÐcêú ÁÐÚSÐ¥ÐÐ : AÐ§Ðê¶ÐÕ §Ðõ½ÐAÐKÝúÒoÐ¥Ðê «Ðï¤Ð«ÐêÁÐoÐÕ AÐKÝúÒoÐ §Ð¯ÐÐü¯Ð®ÐÐrÐÕ 

»ÐÐê¤ÐÐê													           

	49. Question Figure	

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	50.	 Question Figure	

	 (1)	 	 (2)	 	 (3)	 	 (4)	
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Space for Rough Work

Alphabets :  A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y

48. Alphabetical Series : ABCDE    FGHIJ    KLMNO    PQRST    UVWXY

		  Find out between which two letters the 
3
5  th of the letters between G and 

R occurs in the above alphabetical series.

	 (1)	 B and H	 (2)	 K and S	 (3)	H and O	 (4)	D and H

Instructions for Q. Nos. 49 to 50 : Find out the figure from the alternatives 
which exactly matches the question figure.

	49.	 Question Figure 

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	50.	 Question Figure  

	 (1)	 	 (2)	 	 (3)	 	 (4)	
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	51.	¥ÐÕSÐê¥ÐÐ SÐÐêJfúÐ®ÐÐï §Ðõ½ÐÒSÐ¥Åú¥ÐÐ ÁrÐÐ¥Ðê AÐºÐ¥ÐÐ³úÕ ÁÐïO¯ÐÐ §Ð¯ÐÐü¯Ð®ÐÐrÐÕ »ÐÐê¤ÐÐê

2 8 5
7 3 9
3 ? 4

	 (1)	 1	 (2)	 0	 (3)	6	 (4)	10

	§Ðõ½Ð 52 A¥Ðê 53 ®ÐÐcêú ÁÐÚSÐ¥ÐÐ :	 AÐ§Ðê¶ÐÕ ºÐê¥Ð AÐKÝúÒoÐ¥Ð×ï Ò¥Ð³úÕNÐnÐ Kú³úÕ¥Ðê oÐê¥ÐÐ §Ð³ú 

AÐ¤ÐÐÑ³úoÐ §Ðõ½Ð¥ÐÐ DpÐ³ú §Ð¯ÐÐü¯Ð®ÐÐrÐÕ  »ÐÐê¤ÐÐê.					     		     	

				  

	52.  ©úJoÐ ÒqÐKúÐênÐ, ©úJoÐ ¶Ðï«ÐPÐÐê¹ A¥Ðê ©úJoÐ ÀÐcÍKúÐênÐ®ÐÐ¥ÐÐ AïKúÐê¥ÐÐê ÁÐ³úºÐÐ¹Ðê Kêúcú¶ÐÐê ?

	 (1)	 16	 (2)	 23	 (3)	15	 (4)	27

	53.	  qÐnÐê¯Ð AÐKÝúÒoÐ®ÐÐï ÁÐ®ÐÐ¥Ð ÅúÐê¯Ð oÐêºÐÐê AïKú K°Ðê ?

	 (1)	 4	 (2)	 5	 (3)	9	 (4)	3

	54.	  AêKú ÁÐÐïKêúÒoÐKú ¬ÐÐÀÐÐ®ÐÐï “5” ¥Ðê “4” KúÅêú Têú, “8” ¥Ðê “7’ KúÅêú Têú,  “4” ¥Ðê “2” KúÅêú 

Têú  oÐÐê oÐê Vú ÁÐÐïKêúÒoÐKú ¬ÐÐÀÐÐ®ÐÐï-4 + 3 × 5 = Kêúcú¶ÐÐ ?

	 (1)	 19	  (2)	 36	 (3)	30	 (4)	60
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Space for Rough Work

Alphabets :  A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y
	51.	 See the number arrangement and find the number that will replace the 

question mark from the alternatives.

2 8 5
7 3 9
3 ? 4

	 (1)	 1	 (2)	 0	 (3)	6	 (4)	10

	Instructions for Q. Nos. 52 to 53 : Observe the given Venn diagram and answer 
the questions based on that by selecting the correct alternative.

	52.	 What is the total of the numbers given in the triangle, oval and hexagon 
only?

	 (1)	 16	 (2)	 23	 (3)	15	 (4)	27

	53.	 Which number is common in the three figures?
	 (1)	 4	 (2)	 5	 (3)	9	 (4)	3

	54.	 In a code language '5' is called '4', '3' is called '7', '4' is called '2', then in 
the same language 4 + 3 × 5 = ? (how much)

	 (1)	 19	 (2)	 36	 (3)	30	 (4)	60
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	55. AêKú ÁÐÐïKêúÒoÐKú ¬ÐÐÀÐÐ®ÐÐï  AêcÍ¶Ðê ÷ 7 ÅúÐê¯Ð A¥Ðê

		  14   = 10 
	       3   = 13

		  oÐÐê 42   =Kêúcú¶ÐÐ ?

	 (1)	 4	 (2)	 9	 (3)	6	 (4)	5

	 §Ðõ½Ð 56 rÐÕ 60 ®ÐÐcêú ÁÐÚSÐ¥ÐÐ :¥ÐÕSÐê¥ÐÐ §Ðõ½Ð¥ÐÕ »ÐµAÐoÐ®ÐÐï qÐnÐ §Ðsú AÐ§Ðê¶ÐÐ Têú. oÐê®ÐÐï 

Kêúcú¶ÐÕKú ÒºÐÒ»ÐÀÐoÐÐAÐê Têú oÐêrÐÕ  oÐê®Ð¥Ð×ï AêKú V×úrÐ oÐë¯ÐÐ³ú rÐÐ¯Ð Têú. AÐ VÚúrÐ®ÐÐï «Ðï¤Ð«ÐêÁÐoÐ×ï 

§Ðsú AÐ§Ðê¶ÐÐ §Ð¯ÐÐü¯Ð®ÐÐrÐÕ  ¥ÐLúÕ Kú³úÐê.

	56.  ®ÐPÐVú, ©êú©úÁÐÐ, Åúsú¯Ð  : 

	 (1)	X¬Ð  	 (2)	ÅúÐrÐ 	 (3)	̄ ÐKÝúoÐ 	 (4)	§ÐPÐ 

57.	 343, 27, 125 :

	 (1)	 216	 (2)	 261	 (3)	49	 (4)	1

	58.	 8525, 7612, 9372 :

	 (1)	 5824	 (2)	 6083	 (3)	3701	 (4)	9824

	59.	

	 (1)	 	 (2)	 	 (3)	 	 (4)	
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	55.	 In a code language  means ÷ 7 
		  like wise   14   = 10  
				          3   = 13
		  Then 42   = how much?
	 (1)	 4	 (2)	 9	 (3)	6	 (4)	5

Instructions for Q. Nos. 56 to 60 : In each of the following questions three 
words are given with some common relation, so their group is formed. Select 
the word from the alternatives given which has the same common feature of 
the given group.

	56.	 Brain, Lungs, Heart, ____________

	 (1)	 tongue	 (2)	 hand	 (3)	liver	 (4)	leg

	57.	 343, 27, 125,__________

	 (1)	 216	 (2)	 261	 (3)	49	 (4)	1

	58.	 8525, 7612, 9372, _________

	 (1)	 5824	 (2)	 6083	 (3)	3701	 (4)	9824

	59.	

	 (1)	 	 (2)	 	 (3)	 	 (4)	
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	60.	

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	61. ¥ÐÕSÐê¥ÐÐ KúÐêfúÐ¥Ð×ï Ò¥Ð³úÕNÐnÐ Kú³úÕ oÐê¥ÐÐ §Ð³ú AÐ¤ÐÐÑ³úoÐ §Ðõ½ÐÐê¥ÐÐï DpÐ³ú §Ð¯ÐÐü¯Ð®ÐÐrÐÕ  »ÐÐê¤ÐÐê	

ANÐ³úÐê A B C H I O P R
ÒSÐÅú¥ÐÐê ∆  + × < ≠ =

		  'POOR' AÐ »Ð«sú¥ÐÐê ÒºÐ³úÐê¤ÐÕ »Ð«sú KêúºÐÕ ³úÕoÐê ¶ÐOÐÐ»Ðê ?

	 (1)	 ≠ < < =	 (2)	= ×  +

	 (3)	 ∠ ≠ ∆ 	 (4)	= ×  +

	62.	 §Ðõ½Ð ÒSÐ¥Åú¥ÐÐ ÁrÐÐ¥Ðê AÐºÐ¥ÐÐ³úÕ ÁÐïO¯ÐÐ §Ð¯ÐÐü¯Ð®ÐÐrÐÕ »ÐÐê¤ÐÐê	 		

2

5
32

8

4

3
30

7

9

1
34

6

3

?
24

5

	 (1)	 2	 (2)	 5	 (3)	4	 (4)	3
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	60.	

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	61.	 In the following table letters are replaced by symbols.

Letters A B C H I O P R
Symbols ∆  + × < ≠ =

		  Using above symbols, how will opposite of 'POOR' be written?

	 (1)	 ≠ < < =	 (2)	= ×  +

	 (3)	 ∠ ≠ ∆ 	 (4)	= ×  +

	62.	 Observe the arrangement of numbers. Find the correct alternative to replace 
the question mark (?)

		

2

5
32

8

4

3
30

7

9

1
34

6

3

?
24

5

	 (1)	 2	 (2)	 5	 (3)	4	 (4)	3
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	63. ¥ÐÕSÐê¥ÐÕ AÐKÝúÒoÐAÐê®ÐÐï ÒºÐÒ»ÐÀcú §ÐõKúÐ³ú¥ÐÐê Mú®Ð Têú. oÐê AÐê¹OÐÕ¥Ðê §Ðõ½ÐÒSÐÇû¥ÐÐ ÁrÐÐ¥Ðê KúC 

AÐKÝúÒoÐ AÐºÐ»Ðê oÐê »ÐÐê¤ÐÐê.

		

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	64.	 ÅúÐrÐÕ¥Ðê ºÐÐQÐ KúÅúÕAê,  ºÐÐQÐ¥Ðê ÁÐÁÐ¶Ð×ï KúÅúÕAê,  ÁÐÁÐ¶ÐÐ¥Ðê ÓÁÐñÅú KúÅúÕAê, ÓÁÐñÅú¥Ðê ³úÕñTú	

	 KúÅúÕAê  oÐÐê AÐ§ÐnÐ×ï ³úÐÀc÷úÕ¯Ð §ÐõÐnÐÕ KúÐê¥Ðê KúÅúÕ»Ð×ï ?

	 (1)	 ºÐÐQÐ 	 (2)	ÁÐÁÐ¶Ð×ï	 (3)	ÅúÐrÐÕ 	 (4)	ÓÁÐñÅú 

	65.	 ¥ÐÕSÐê¥ÐÕ ÒSÐ¥Åú®ÐÐ¹Ð §Ðõ½ÐÒSÐÇû¥ÐÐ ÁrÐÐ¥Ðê ÒSÐÇû¥ÐÐê K°Ðê ÁÐ®ÐÚÅú AÐºÐ»Ðê ?	 		

	 (1)	 	 (2)	

	 (3)	 	 (4)	

	66.   AÐ§Ðê¶ÐÕ ÁÐïO¯ÐÐ®ÐÐ¹Ð®ÐÐ¥Ð×ï A¯ÐÐêP¯Ð §Ðsú AÐê¹OÐÐê	

		  	 11, 27, 51, 83, 102, 171

	 (1)	 51	 (2)	 27	 (3)	171	 (4)	102
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	63.	 There is a typical order in the given figures observe them and select the 

corrct alternative to replace the question mark (?)

			 

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	64.	 If elephant is called tiger, tiger is called rabbit, rabbit is called lion, and lion 
is called bear, then who will be called our national animal?

	 (1)	 tiger	 (2)	 rabbit	 (3)	elephant	 (4)	lion

	65.	 Observe the given series and find out which symbols will replace the question 
mark (?)

		

	 (1)	 	 (2)	

	 (3)	 	 (4)	

	66.	 In the given number series find out the odd term.

		  11, 27, 51, 83, 102, 171

	 (1)	 51	 (2)	 27	 (3)	171	 (4)	102
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	67.	 AêKú ÁÐÐïKêúÒoÐKú ¬ÐÐÀÐÐ®ÐÐï BAT = 278, ANT = 276,  NET  = 765  Aê®Ð ¶ÐOÐÐ¯Ð Têú, 

oÐÐê oÐê Vú ÁÐÐïKêúÒoÐKú ¬ÐÐÀÐÐ®ÐÐï “BEAN” AÐ »Ð«sú Kêú³úÕ ³úÕoÐê ¶ÐOÐÐ»Ðê ? (ANÐ³úÐê A¥Ðê 
ÒSÐÇû¥ÐÐê Mú®Ð ÁÐ³úOÐÐê Vú Åú»Ðê AêºÐ×ï ¥ÐrÐÕ) 

	 (1)	 8572	 (2)	 8526	  (3)	7685	          (4)	8356

	68.   ¥ÐÕSÐê¥ÐÐ §ÐëKúÕ KúÐê¥ÐÕ M×úÒoÐ A¯ÐÐêP¯Ð Têú ? oÐê §Ð¯ÐÐü¯Ð®ÐÐrÐÕ »ÐÐê¤ÐÐê :

	 (1)	AÑsúÒoÐ Ò¥Ð®ÐÐü¶¯Ð®ÐÐrÐÕ Kïú§ÐÐêÁcú OÐÐoÐ³ú oÐë¯ÐÐ³ú Kú³êú Têú.					   

	 (2)	 »ÐÒºÐü¥Ð KúÐ¯Ð®Ð «ÐW³ú®ÐÐrÐÕ ºÐÁoÐ× §¶ÐÐÔÁcúKú¥ÐÕ rÐê¶ÐÕ®ÐÐï Vú ¶ÐÐºÐê Têú.			 

	 (3)	´Kú»ÐÐ¥ÐÐ ÁÐÐ®ÐÐÓVúKú KúÐ¯Ðü®ÐÐï ÁÐÑMú¯Ð ÁÐÅú¬ÐÐPÐ ¶Ðê Têú.					   

	 (4)	 §Ð¶ÐKú §ÐõsÚúÀÐnÐ ÒºÐ³úÐê¤ÐÕ WÅêú³úÐoÐ Kú³êú Têú.

	69.	 TúÐêKú³úÐ¥ÐÕ ÅúÐ¶Ð¥ÐÕ D®Ð³ú ®ÐÐoÐÐ¥ÐÕ ÅúÐ¶Ð¥ÐÕ D®Ð³ú¥ÐÐ ½ PÐnÐÐ Kú³úoÐÐï 4 Vúêcú¶ÐÕ AÐêTúÕ 

Têú A¥Ðê ®ÐÐÁÐÕ¥ÐÕ ÅúÐ¶Ð¥ÐÕ D®Ð³ú¥ÐÐ 1/3 PÐnÐÐ Kú³úoÐÐï 2 Vúêcú¶ÐÕ ºÐ¤ÐÐ³êú Têú VúÐê ®ÐÐoÐÐ¥ÐÕ 

ÅúÐ¶Ð¥ÐÕ D®Ð³ú 42 ºÐÀÐü ÅúÐê¯Ð oÐÐê ®ÐÁÐÕ¥ÐÕ «Ðê ºÐÀÐü §ÐÅêú¶ÐÐ¥ÐÕ D®Ð³ú Kêúcú¶ÐÐ ºÐÀÐü¥ÐÕ Åú»Ðê?

	 (1)	 43	 (2)	 45	 (3)	47	 (4)	40

	70.	 AÐ§Ðê¶ÐÕ AÐKÝúÒoÐ®ÐÐï K×ú¶Ð Kêúcú¶ÐÐ ÒqÐKúÐênÐ Têú ?
	 (1)	 9
	 (2)	 13
	 (3)	 15
	 (4)	 12                        

	71.§ÐÐïSÐ ¶ÐÐêKúÐê¥ÐÕ súÐêhúºÐÐ¥ÐÕ Á§Ð¤ÐÐü®ÐÐï VúÐê¥Ð¥ÐÐ AÐPÐ¹ AÅú®Ðsú ÅúoÐÐê. AÅú®Ðsú A¥Ðê ÁÐ®ÐÕ³ú¥ÐÕ 

ºÐSSÐê ©úJoÐ PÐÐëpÐ®Ð ÅúoÐÐê. VúÐê¥Ð A¥Ðê AÅú®Ðsú¥ÐÐ ºÐSSÐê Åú³ú¬ÐVú¥Ð ÅúoÐÐê, oÐÐê ®Ð¤¯Ð®ÐÐï KúÐênÐ 

ÅúoÐ×ï ?	  (1) VúÐê¥Ð       (2)  ÁÐ®ÐÕ³ú       (3)  PÐÐëpÐ®Ð     (4)  AÅú®Ðsú 
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	67.	 In a code language BAT = 278, ANT = 276, NET = 765, then in the same 

code how 'BEAN' is written? (It is not necessary that the order of the letters 
and number is same.)

	 (1)	 8572	 (2)	 8526	 (3)	7685	 (4)	8356

	68.	 From the given statements whose activity is incorrect. Choose the correct 
alternative.

	 (1)	 Aditi prepares compost manure from the dried flowers and leaves.
	 (2)	 Sharvin always brings things from the market in plastic bags.
	 (3)	 Rukhsana actively participates in the social activities.
	 (4)	 Palak promotes antipollution advertisement.

	69.	 A son's present age is 4 less than 1
2

 of the mother's present age and 2 more 

than 
1
3 rd of the aunt's present age. If the present age of his mother is 42 

years then what was the age of his aunt two years ago?

	 (1)	 43	 (2)	 45	 (3)	47	 (4)	40

	70.	 How may triangles are there in the given figure?

	 (1)	 9
	 (2)	 13
	 (3)	 15
	 (4)	 12                        

	71.	 In a running race of 5 students, Ahmed was ahead of John. Gautam was 
between Ahmed and Sameer. Harbhajan was between John and Ahmed. 
who was at the centre?

	 (1)	 John	 (2)	 Sameer	 (3)	Gautam	 (4)	Ahmed
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	72.	 ¥ÐÕSÐê¥ÐÕ AÐKÝúÒoÐ®ÐÐï sú»ÐÐüº¯ÐÐ §Ðõ®ÐÐnÐê ÁÐ®ÐÐ¥Ð AÐKúÐ³ú¥ÐÐ QÐ¥Ð¥ÐÕ ®ÐÐïhúnÐÕ Kú³úÕ¥Ðê AêKú 

§ÐõÒoÐKÝúÒoÐ oÐë¯ÐÐ³ú Kú³úÕAê oÐÐê oÐê¥Ðê K×ú¶Ð Kêúcú¶ÐÐ §ÐÝÀfú Åú»Ðê ?

	 (1)	 12	 (2)	 8	 (3)	10	 (4)	11

	73.	 AêKú 1.5 ÑKú®ÐÕ ¶Ðï«ÐÐC¥ÐÐ ³úÁoÐÐ¥ÐÕ «Ðï¥Ðê «ÐÐV×úAê ¶Ðï«ÐÐC 60 ®ÐÕ. AïoÐ³ú §Ð³ú AêKú 

ÒºÐ¡×oÐ¥ÐÐê rÐÐï¬Ð¶ÐÐê AÐ §Ðõ®ÐÐnÐê ÒºÐ¡×oÐ¥ÐÐ rÐÐï¬Ð¶ÐÐ ¶ÐPÐÐhúoÐÐ K×ú¶Ð Kêúcú¶ÐÐ rÐÐï¬Ð¶ÐÐ ¶ÐÐPÐ»Ðê?
	 (1)	 25  	 (2)	 26	 (3)	50	 (4)	52

	74.	 AÐ§Ðê¶ÐÕ AÐKÝúÒoÐ®ÐÐï K×ú¶Ð Kêúcú¶ÐÐ SÐoÐ×ÁKúÐênÐ Têú ?

	 (1)	 5	 (2)	 4	 (3)	7	 (4)	6

	75.	 Ò»ÐNÐKú ºÐPÐü®ÐÐï ¥Ð ÅúoÐÐ o¯ÐÐ³êú ºÐPÐü®ÐÐ¥ÐÐ «Ðê ÒºÐ¤ÐÐrÐÕüAÐê ºÐSSÐê aúPÐhúÐê »Ðµ rÐ¯ÐÐê, oÐÐê 

oÐ®Ðê ºÐPÐü§Ðõ®Ð×OÐ oÐ³úÕKêú §ÐõrÐ®Ð KúC M×úÒoÐ Kú³ú»ÐÐê ?	

	 (1)	 oÐê «Ðï¥Ðê KêúºÐÕ ³úÕoÐê aúPÐhêú Têú oÐê VúÐêoÐÐï ³úÅêú»ÐÐê. 

	 (2)	aúPÐhúÐ¥ÐÐê ÒºÐÀÐ¯Ð ºÐPÐü Ò»ÐNÐKú¥Ðê VúnÐÐºÐ»ÐÐê.

	 (3)	«Ðï¥Ðê¥Ðê ÁÐ®ÐWºÐ»ÐÐê A¥Ðê aúPÐhúÐê DKêú¶ÐºÐÐ¥ÐÐê §Ðõ¯Ðo¥Ð Kú³ú»ÐÐê.				  

	 (4)	 oÐê «Ðï¥Ðê¥ÐÐê Ò¥ÐÀÐê¤Ð Kú³ú»ÐÐê.				 
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	72.	 The clues of same dimension are arranged according to the given figure 

and a new figure is formed. How many faces will be there of such figure?

	 (1)	 12	 (2)	 8	 (3)	10	 (4)	11

	73.	 If the electric poles are erected at 60m distance on 1.5 km long road on both 
the sides, how many poles will be erected?

	 (1)	 25	 (2)	 26	 (3)	50	 (4)	52

	74.	 What is the number of quadrilaterals in the adjacent figure?

	 (1)	 5	 (2)	 4	 (3)	7	 (4)	6

	75.	 The teacher is not in the class and two students enter into a quarrel. What 
will you do as a monitor?

	 (1)	 You will see how they fight.
	 (2)	 Inform the subject of fight to the class teacher.
	 (3)	 You will convince them and try to sort out the issue.
	 (4)	 You will prohibit both of them.
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